o
N
X
=
o
&
(=
N
X
=
o
&

= C A C
S r e F
O L S B | R R S R R {0 NI RRRTRRERTRRREY | BRREE T
s o o o
te] R 1 ) R R H R I | R I RN I N R O
° 0 : v 0.1
O e | R I R R | SRR O e R | (1| 1 SRR RTEERS
o] SEPUPUR I | 1 SN U . B P | o] SEPUPUURE VU, { N Nt 11 11 R S
~0.05 -+t i T R (S 01| RPN TR oo i F R SRS
O I | L SR S T 3 SR SRR
=015 -wreeie e dee i 8 I R EEREE | EER SOV <! REEER ERREEREY: | IRERE | AEE |2 £ EEERRILRLERS
.9_0.2;|||||||||!||||!||||!||||!|||| 0_0.2;||||!||||!||||!|||||||||!||||
T 2 | i i kS S SR 1 51 4 R
!S:ts E i i !S:ts 1'5§ } : ] ] :
3 ' : LR |
3 ! . 1 0.5F- | It -
0: H 1 H H rx 4 OE 1 H E H H
-2 -1 0 1 2 3 =3 -2 -1 0 1 2 3

|
w

TP n (PCA to beamline) TP n (PCA to beamline)

—=— DQM_TT__mkFit-DQM_original-0
—e— DQM_TT__mkFit-DQM_mod-127
—— DQM_TT__mkFit-DQM_mod_updatedmod-127
= 100 ~ 100
g - : : : E F : : :
= 80 T1(IH } j = 80 [[IH : i iy
A E ! ; ] A E i | g il
2 60F |-t I ' < 60F- TR HH]
2 I . ] o I . : !
v 40:— 1% ~ \% 40:— ‘ * e[ 11T
20F-1-HAIFHH A itth 206l S |
oF-{-{rH 1Mt OF |1t Al e
—20F-1- (AL -20F : [
~40F-{-(it ~40F : 1
-60F {1t § -60F 1 :
-80F -80F : L
0_1095........|....|...|..u.|.... 0_1005....|....|....i....|....|....
g sk 3 2F 1
a4 E : o L i
2F- F H
E N 1= 1
1;—' 4 18 1 h Pk. r f f f l f :
ok ' . : : : - o : i : : : .
=3 -2 -1 0 1 2 3 =3 -2 -1 0 1 2 3

TP n (PCA to beamline) TP n (PCA to beamline)

<op/p.> (%)
O = N W N O

--='-..-! e T

3 nEsai '
2F
e
-3

o —BE-rt Ly M ;

c : 10
2 Mmoo : : | .
1; CUUCTHETES TS ST TE T

-2 -1 0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


